
���

$8720
$7,&�%$

55,(56

���

0$;,0$
5DQJH� RI� SURIHVVLRQDO� ���� 9DF� HOHFWURPHFKDQLFDO� EDUULHUV� IRU� EXV\�
XVH��GHVLJQHG�DQG�GHYHORSHG�WR�RSHUDWH� LQ�D�ZLGH�YDULHW\�RI�FRQGLWLRQV�
VXFK�DV�ODUJH�SDUNLQJ�ORWV��PRWRUZD\�WROO�JDWHV�ZLWK�IUHTXHQW�UHYHUVLQJ��
VHQVLWLYH� VLWHV� ZKHUH� WKH� EDU� PXVW� RSHQ� VSRQWDQHRXVO\� LQ� FDVH� RI� D�
SRZHU�IDLOXUH�DQG�LQ� LQGXVWULDO� LQVWDOODWLRQV��0HFKDQLFDO�PRYHPHQW�ZLWK�
FUDQN�WR�PDNH�WKH�EDU�RSHUDWH�VPRRWKO\��DOVR�PDQDJLQJ�VORZGRZQV�LQ�
RSHQLQJ�DQG�FORVLQJ�

',0(16,216��PP�

7(&+1,&$/�)($785(6

0$;,0$��� 0$;,0$��� 0$;,0$���

8VHIXO�SDVVDJH IURP�����WR���P IURP���WR�����P IURP�����WR���P

2SHQLQJ�RU�FORVLQJ�WLPH ����VHF� ��VHF� ��VHF�

&RQWURO�XQLW &6%�%5 &6%�%5 &6%�%5

0RWRU�W\SH VLQJOH�SKDVH VLQJOH�SKDVH VLQJOH�SKDVH

*HDU�XQLW�W\SH LQ�RLO�EDWK LQ�RLO�EDWK LQ�RLO�EDWK

0RWRU�SRZHU�VXSSO\ ����9 ����9 ����9

6ORZGRZQ RSHQLQJ�DQG�FORVLQJ RSHQLQJ�DQG�FORVLQJ RSHQLQJ�DQG�FORVLQJ

,PSDFW�UHDFWLRQ (OHFWURQLF�PDJQHWLF�UHYHUVHU (OHFWURQLF�PDJQHWLF�UHYHUVHU (OHFWURQLF�PDJQHWLF�UHYHUVHU

/RFNLQJ PHFKDQLFDO PHFKDQLFDO PHFKDQLFDO

5HOHDVH LQVLGH�WKH�VWUXFWXUH LQVLGH�WKH�VWUXFWXUH LQVLGH�WKH�VWUXFWXUH

)UHTXHQF\�RI�XVH ������2S�JJ �����2S�JJ �����2S�JJ

0&%)��0HDQ�&\FOHV�
%HWZHHQ�)DLOXUHV� ��������2S ��������2S ��������2S

(QYLURQPHQWDO�FRQGLWLRQV IURP�����q&�WR�����q& IURP�����q&�WR�����q& IURP�����q&�WR�����q&

3URWHFWLRQ�UDWLQJ ,3�� ,3�� ,3��



SKDVH�RXW

QHZ

&RPSOHWH�
6\VWHPV�3�����

DFFHVVRULHV
3�����

FRQWURO�XQLW 3� ���
DFFHVVRULHV�IRU�FRQWURO�XQLWV 3� ���
VHW�RI�EDWWHULHV�IRU�FRQWURO�XQLWV 3� ���
H[SDQVLRQ�ERDUGV 3� ���
VRIWZDUH 3� ���
UHFHLYHUV 3� ���
WUDQVPLWWHUV 3� ���
FRQWURO�GHYLFHV 3� ���

DFWLYDWLRQ�VHQVRUV�DXWRPDWLF�GRRUV�DQG�VHFXULW\ 3� ���
VLJQDOOLQJ�GHYLFHV 3� ���
VDIHW\�GHYLFHV���3KRWRFHOOV�DQG�DFFHVVRULHV 3� ���
VDIHW\�GHYLFHV���6HQVLWLYH�HGJHV 3� ���

3� ���
VROHQRLG�ORFNV 3� ���
UHOHDVH�V\VWHPV 3� ���

���

$8
72

0
$7

,&
�%
$
55

,(
56

���

&RGH 1DPH 3ULFH��Ÿ� 'HVFULSWLRQ

3������ 0$;,0$��� �������
(OHFWURPHFKDQLFDO�EDUULHU�����9�DOORZV�������2S�JJ��2SHQLQJ�WLPH�����VHF��ZLWK�VORZGRZQ�
RSHQLQJ�DQG�FORVLQJ��0D[�EDU�OHQJWK���P��6XLWDEOH�IRU�LQVWDOODWLRQV�LQ�DUHDV�ZLWK�IUHTXHQW�
WUDQVLW�DQG�IUHTXHQW�UHYHUVLQJ��EXV\�FDU�SDUNV��HWF��

3������ 0$;,0$��� �������
,QGXVWULDO�HOHFWURPHFKDQLFDO�EDUULHU�����9�DOORZV������2S�JJ��2SHQLQJ�WLPH���VHF��V�ZLWK�

EDU�KROGHU

3������ 0$;,0$��� �������
,QGXVWULDO�HOHFWURPHFKDQLFDO�EDUULHU�����9�DOORZV������2S�JJ��2SHQLQJ�WLPH���VHF��ZLWK�

EDU�KROGHU

,QFRUSRUDWHG�FRQWURO�XQLW�IRU�RQH���9�RSHUDWRU�IRU�VOLGLQJ�JDWHV
%RDUG�SRZHU�VXSSO\�����9�VLQJOH�SKDVH

LQWHJUDWHG�WZR�FKDQQHO�UHFHLYHU��'�7UDFN�EDVHG�DQWLVTXDVKLQJ�V\VWHP�DQG�VORZGRZQ�GXULQJ�RSHQLQJ�RU�FORVLQJ�

5(&200(1'('�$&&(6625,(6
3���������������$70�����Ÿ������� 3���������������$70�����Ÿ�������

&RPSOHWHO\�SURWHFWHG�E\�QHZ�SRO\VW\UHQH�SDFNDJLQJ� &RPSOHWHO\�SURWHFWHG�E\�QHZ�SRO\VW\UHQH�SDFNDJLQJ�

3���������$70/�����Ÿ������� 3���������$70/�(;7����Ÿ�������

$OXPLQLXP�EDU�/ ��P�¹����PP��/LJKWV�DQG�UXEEHU�QRW�LQFOXGHG��
&RPSOHWHO\�SURWHFWHG�E\�QHZ�SRO\VW\UHQH�SDFNDJLQJ�

([WHQVLRQ�/ �P�IRU�EDU�PRGHO�$70/�����/LJKWV�DQG�UXEEHU�QRW�
LQFOXGHG�

3���������,6�$70/���Ÿ�������
�

3���������20(*$�$7���Ÿ�������

� 6LQJOH�FODPSLQJ�RI�KDQG�JXDUG�DQG�VFUHZV�IRU�EDU�$70

3���������20(*$�$70�)5$���Ÿ������� 3���������20(*$�$70/���Ÿ�������

)UDFWXUH�V\VWHP�FODPSLQJ�IRU�EDU�$70 6LQJOH�FODPSLQJ��KDQG�JXDUG�DQG�VFUHZV�IRU�$70/�EDU�RQ�
0$;,0$��������%DU�QRW�LQFOXGHG�

3���������20(*$�)5&�$70/���Ÿ������� 3���������$70�����q�5*���Ÿ�������

1HZ�IRUN�FODPSLQJ�IRU�$70/�EDU�RQ�EDUULHU�PRGHO��0$;,0$�
�������%DU�QRW�LQFOXGHG� $UWLFXODWHG�EDU���q�/ ��ZLWK�OLJKWV�5�*

3���������$70�����q�5*���Ÿ�������� 3���������������3&$�$70�����Ÿ������

$UWLFXODWHG�EDU���q�/ ��ZLWK�OLJKWV�5�*

3���������������3&$�$70�����Ÿ������ 3���������������3&$�$70�����Ÿ�������

3���������$//8�0$;,0$���Ÿ������ 3���������������.,7�$70�/,*+7���5�*���Ÿ�������



���

$8720
$7,&�%$

55,(56

���

3���������������.,7�$70�/,*+7���5�*���Ÿ������� 3���������������.,7�$70/�/,*+7���5�*���Ÿ�������

3���������)&6�0$;,0$�����Ÿ������� 3���������)&6�0$;,0$�������Ÿ������

��DGGLWLRQDO�OLPLW�VZLWFKHV�IRU�0$;,0$����0$;,0$�8/75$��� ��DGGLWLRQDO�OLPLW�VZLWFKHV�IRU�0$;,0$������

3���������567�$70���Ÿ������� 3���������*$�$70���Ÿ������

$OXPLQLXP�UDFN��3ULFH�IRU���PHWUHV��6XVSHQGHG�IRRW�QRW�
LQFOXGHG��&RPSDWLEOH�ZLWK�$70/�DQG�$70�PRGHO�EDUV� $GMXVWDEOH�VXVSHQGHG�IRRW��SRZGHU�FRDWHG�FDWDSKRUHVLV�WUHDWHG�

3���������)$)�81,�5���Ÿ������� 3���������(%%�.,7�$70/���Ÿ�������

$GMXVWDEOH�VXVSHQGHG�IRRW��SRZGHU�FRDWHG�FDWDSKRUHVLV�
WUHDWHG� $GMXVWDEOH�VXVSHQGHG�IRRW��SRZGHU�FRDWHG�FDWDSKRUHVLV�WUHDWHG�

3���������659�',1���Ÿ�������
�

6WDQGDUG�',1�UDLO�IRU�LQWHUIDFLQJ�EDUULHU�ZLWK�SDUNLQJ�V\VWHP��

DGGLWLRQDO�VXSSO\�WHUPLQDOV��VRFNHW�IRU�PHWDO�PDVV�GHWHFWRU�
DQG�VWDQGDUG�LQSXW�RXWSXW�WHUPLQDO�EORFN


